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A 752,670

O THaHPIE DA FHIA 496,850,0002 * 14! 496,850

= 300,000

3 60,000

Al 136,850
02 el 495, 180 0 495, 180

[0 2DEEAY 495, 180

O MoHSIE HaXR ZHIAHL 495,180,002 * 14! 495, 180
03 Al&=rHt] 15,300 12,150 3,150

0 2DBEA 5,300

O THoHSIE TSHXR HHIAHL 4,500,000,0002 * 0.27/100 12,150

O MHaHIE DU FHlA 500,000,0008 * 0.63/100 3,150
WoHFIAIE  FHIALY 503,600 553,465 149,865
401 AlEHIL 2O 503,600 553,465 149,865
01 Al&yl 500,000 550,000 50,000

O 23X MHHFHAAE Fy) 500,000,0008 * 14! 500,000
03 Al& =] 3,600 3,465 135

) THoH S otAlE | 500,000,0008 * 0.72/100 3,600
=792 XY 96,300 81,300 15,000
206 TH2HI 10,000 10,000 0
01 el 10,000 10,000 0

O HHS3=7 I 2 10,000,0008 * 12! 10,000
302 OIFLMHBAS 56,300 56,300 0
02 SIROITHOH 2 &S 56,300 56,300 0

O AFRAIZTIEH X2 2 50,000,000 * 14! 50,000
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25,393
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25,393
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2,000,000
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1,200,000
400,000
400,000

2,000,000
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1,992,800
1,992,800
1,992,800

1,200,000
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Al 392,800
03 AIE=20bl 7,200 7,200
O =022 A 7,200
O A& S0 7,200,000& * 14l 7,200
SEMFAE EXNAS 5,781,000 5,781,000
= 3,758,000
= 607,000
Al 1,416,000
401 Al&HIZL=ROHYI 5,781,000 5,781,000
= 3,758,000
& 607,000
Al 1,416,000
01 Al&HI 5,623,841 5,623,841
O =202 X Ad 5,623,841
O 2N+ HAFAd X At 5,623,841,000& = 14 5,623,841
= 3,758,000
L= 607,000
Al 1,258,841
02 2eldl 141,550 141,550
[ I NEXAE 141,550
O 27 HAFAld X At 141,550,000& * 14 141,550
03 AIE=20bl 15,609 15,609
O =022 A 15,609
O 2EXF HFAIE EX At 5,781,000,000& * 0.27/100 15,609
o H=3 2 MESHANA 7,659,511 3,186,157
= 4,107,515
= 340,000
Al 3,211,996
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AR (Red) =HIS Hy| 667,001 1,667,000 A999,999
= 600,000
7 Al 67,001
AR (REd) FHIY JHIAMY 667,001 1,667,000 999,999
= 600,000
Al 67,001
401 A EHIL 201 667,001 1,667,000 A999,999
= 600,000
Al 67,001
01 Al&HI 662,798 1,660,998 998,200
O =022 A 662,798
O 2gd =EHXY FHIAY 662,798,000& * 14 662,798
= 600,000
Al 62,798
03 AIZ20i4l 4,203 6,002 21,799
[ [ NEXAE 4,203
O 2gd =HXY ALY 667,000,000& = 0.63/100 4,203
otd . Aotd HH| 6,992,510 2,806,354 4,186, 156
= 3,507,515
L= 340,000
Al 3,144,995
Kl ==0l 2 A 437,480 435,880 1,600
101 el 34,600 33,000 1,600
04 JIZHMIZ2XEE =+ 34,600 33,000 1,600
[ AotE JI8MEH =2 34,6003 * 508 * 20 34,600
401 Al&HI LS04I 402,880 402,880 0
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01 Al&H| 400,000 400,000 0
[ AGHE =oH Ol ZArY 400,000
O ot 4otd EHIALY 100,000,000& * 1A 100,000
O 7 Aotd HUIALY 100,000,000& * 14 100,000
O 24+ Aot HUIALY 100,000,000& * 14 100,000
O FLSRE A0t ZUIAMY 100,000,000& * 14 100,000
03 AIZR0i4l 2,880 2,880 0
] AGHE ol ZAr 400,000,000& * 0.72/100 2,880
2ot EHIAHY 4,255,030 2,370,474 1,884,556
= 2,127,515
Al 2,127,515
401 Al H 22| 4,255,030 2,370,474 1,884,556
= 2,127,515
Al 2,127,515
01 Al&H| 4,243,550 2,361,940 1,881,610
O =082 AS 4,243,550
O 2540 FHIAY 1,230,384,000& * 14 1,230,384
= 615,192
Al 615,192
O 2L FHIAY 1,721,376,000& * 14 1,721,376
= 860,688
Al 860,688
O AHAGHE FUIAY 1,291,790,000& * 14 1,291,790
= 651,635
Al 640, 155
03 Al 20| 11,480 8,534 2,946
O =08 XA 11,480
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O XA MEHSIE ZAAIS 1,494,960,000& * 14 1,494,960

= 900,000

= 180,000

Al 414,960
03 A&=20dI 5,040 0 5,040

[ 2DEXAIY 5,040

O XA MEHSIE ZAAIS 5,040,000 * 14 5,040
YA (IHLoHA 2el ) 73,960 72,616 1,344
ol 2| 53,760 52,416 1,344
Ol 2| () Hotd 2te| 1) 53,760 52,416 1,344
101 1Al 53,760 52,416 1,344
01 B4 53,760 52,416 1,344

O =2f:s4 53,760

O AZ2H224Y 8,000& * 149 x 40AI2F » 128 53,760
Jl=3Hl 20,200 20,200 0
Jl2Z8l (Lot E 22| ) 20,200 20,200 0
201 LBet29h| 13,000 13,000 0
01 AtR22|dl 10,300 10,300 0

[ et=ZH| 10,300

O BA2E =S84l 5,000,000 = 14! 5,000

O SAIEX 7L 20,0002 * 1208fA 2,400

O SAI =2l 400,000& = 1CH 400

O Z2lg =2 200,000 * 5CH 1,000

O Zgle EYH 2¢ 300,000& * 5CH 1,500
02 =323l 2,700 2,700 0
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03322 2 A 2,700
O 2etdsiea 80,000& * 2C# * 12& 1,920
O NHsSkAl & 288 S 780
RPN 250,000& = 1CH 250
AN RE= 50,000& * 1CH * 23] 100
SR=:K=d 400,000 * 14 400
A= 2 30,000& * 1CH 30
202 O4Hl 3,000 3,000 0
01 =LA bl 3,000 3,000 0
0O fA2EES0I 3,000, 000& 3,000
203 HRF&H| 3,000 3,000 0
04 FN2IHRFAHI 3,000 3,000 0
[ THterd 2tel 1t 250,000& = 123 3,000
204 ARHAH| 1,200 1,200 0
01 AMGHRHFH| 1,200 1,200 0
O] THEtorM 2he| b & 100,000& = 12& 1,200
WES THtor A 2te| 1) 3,624,000 3,736,000 A 112,000
NS 3,424,000 3,536,000 A 112,000
HXE (Mot 2e| D) 3,424,000 3,536,000 A 112,000
311 XL =0IAt&f 224,000 336,000 A 112,000
02 Al -2 - RXANLIIS XSO0l Atk 224,000 336,000 A 112,000
O BHE"ZAM"TIo =70l Ol XHAHEH2004EH = 2) 224,000,000& * 13 224,000
601 XML SLE 3,200,000 3,200,000 0
02 Al -2 - XS == 34 3,200,000 3,200,000 0
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